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Math 122 | Fall 2008

Quiz #10
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1. (a) (4 points) Find the Taylor Series for the function f (x) = " around the point ¢ = 3.
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Express your final answer using sigma (2} notation, and clearly indicate your final answer.,
We woant +o oblaia an arowes cg( Fhe Foran !

5 an(x—3)"

A=0
' I
Sa we _..p;‘!l bejin bj mmniPulah'f‘\j Jc()() = TF +o
Cr‘eaq-g. O (1—3) feren
— } .
. 1+ X 4 +(x -3 4 — )
f (x-3) e

Uoing Ha summahon 'C“"ff\u\.q for an Infinile gromedvic Series
in ceuene, _
flx) = ’
4..

-
I~ = (x-3)

h=o 4
= Z ("': )‘ (x_;)n
n=o Ll.
FINAL ANSWER:
(- 1)" .
F(x) = (x-3)



SoLu TIONS .

. . . . i
) (2 points) Find the radius of convergence of the Tayvlor Series for the function f (x) =—
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around the point e = 3.
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2. Consider the power series defined below.
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(a) (2 points) Write out the sigma notation for this power series.
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(b) (2 points) Determine the interval of convergence for this power series. Be sure to show your
work. (Continue your work on the back of this sheet of paper if necessary, but write your final
answer in the space provided below.) .
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